simpl
(p2 [— ";")
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(pl == "in |_ *vv)

simpl

(p2==

—_n .H)
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(pl == "in |_ *n)

_ apply
mtuition/0

reflexivity/0

destruct
(pl —— nb2n)
(p2 — u; u)

(1 =b2&& p2=;)(pl =bl&& p2=.)l(p1=x))
intros/0
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rewrite
(pl =="xorb_commin H")

((p1 = xorb _comm in H)||(pl = <- xorb_assoc )||(pl = H)||(pl = <- (false_xorb b") )|[(p1 = xorb_assoc )||(p] = <- (xorb_nilpotent b) )||(p1 = H1))

destruct
(p1 one of { "b1", "x" })
(pz One Of{ ".H’ H. "’ H; " })
(pl =b2&& p2=;)|(pl=bl&& p2=.)|(pl=x))
unfold
0
Intros
(pl=="blb2")
(p1=b2)|(pl=bl b2))
destruct

(pl one of { "b1", "x" 1)
nmn H. ", H; n })

(p2 one of { ".",

mntros/0

0

destruct

(pl one of { "b1", "x" 1)
(p2 O]fle Of{ H.H’ ". "’ H; " })

(pl =bl&& p2=

el =1)

(pl =b2&& p2=.)l(pl =b2&& p2=))|(pl =b2&& p2=)|(Ppl =Dbl&& p2=;)|(pl=bl&& p2=))|pPl=Db&& p2=;)|(pl=b&& p2=;)(pl=a)

case
(pl =="p1 u)
(pl=bl))
destruct
(p1=Db3)|(pl = b&k& p2=.))
destruct
(pl [— "b””)
(p2 ==" n)
(p1=D")|(pl=D"))
elim
case
(pl =="H2 n)
((p1=1b2))
rewrite
(pl =="(xortb_ move 1 r I1b'bb" H)")
((pl =(xorb_move 1 r 1b'bb" H))|(pl =xorb_nilpotent ))
case
(pl=bl))
auto
0
destruct
(pl =bl&& p2=)|(pl=1)
rewrite
(p1 == "xorb_nilpotent ")
((pl =(xorb_move 1 r 1b'bb" H))|(pl = xorb_nilpotent ))
ntros
trivial/0 “ ((p1 = b1 b2 HI H2))
/ mntro
destruct
destruct case intros/0 (pl =="b")
apply (p2=="."
(Pl =b2&& p2=.)l[(pl =b2&& p2=;)|(pl =b2&& p2=)|(pl=Dbl&& p2=;)|(pl=Dbl&& p2=))|(pl=Db&& p2=;)|(pl=b&& p2=))(pl=a) (pl=b2)) 0
(pl =b&& p2=.))
o @
0
unfold
)
0 ((pl =xorb_comm in H)||(p1 = <- xorb_assoc )||(pl = H)||(p]l = <- (false_xorb b") )||(p]1 = xorb_assoc )|(p1 = <- (xorb_nilpotent b) )||(p1 = H1 ))
intros/0 ‘ trivial ‘
0 0
mtros/0 auto
0 0
rewrite rewrite
((pl =xorb_comm in H )||(p1 = <- xorb_assoc )|[(pl = H)||(pl = <- (false_xorb b") )||(p]l = xorb_assoc )|(p1 = <- (xorb_nilpotent b) )||(p1 = H1 )) ((pl =xorb_comm in H )||(p1 = <-xorb_assoc )||(pl = H)||(p]l = <- (false_xorb b") )||(p] = xorb_assoc )|(p1 = <- (xorb_nilpotent b) )||(p1 = H1 ))
elim
. ntros
(pl=H))
rewrite
((pl1 =xorb_comm in H)||(pl = <- xorb_assoc )|(pl = H)||(pl = <- (false_xorb b") )||(p1 = xorb_assoc )||(p] = <- (xorb_nilpotent b) )||(p1 = H1))
auto simpl
reflexivity/0
0 0
mversion_clear
e
rewrite
(pl =H2))
case
‘ intro/0
(p1=b))
tauto/0
trivial
auto
reflexivity/0
trivial case
reflexivity/0 (p1 =b2))
trivial
(p1 == "with bool ")
I
apply 0
trivial/0
reflexivity/0
ntros
(pl=H))
trivial
mversion_clear
0
auto

trivial
reflexivity/0




